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A speed of train is 13 / 11 of the speed of the car. Both starts at the same time from @\
point P and reach Q at the same time because there was a halt of 24 min for train.

If the distance between point P and point Q is 286 km, then, find out the speed (in
km / hour) of the car? |
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A speed of train is 13 / 11 of the speed of the car. Both starts at the same time from point
P and reach Q at the same time because there was a halt of 24 min for train. If the

distance between point P and point Q is 286 km, then, find out the speed (in km / hour)
of the car?
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Two trains are of the same length. The first train crosses a pole in 30 seconds and train B
crosses a platform in 40 seconds. But the speed of train B is 20 % more than the train A.

Find out the ratio of the length of train and length of the platform?
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Two trains are of the same length. The first train crosses a pole in 30 seconds and train B
crosses a platform in 40 seconds. But the speed of train B is 20 % more than the train A.
Find out the ratio of the length of train and length of the platform?
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An article is sold at 9.09% profit after giving two successive discounts of 14.28%
and 12.5%. Find how much the above article price was marked up on cost price?

U TG T 14.28% 3T 12.5% <Y ST HARTA BE 3 o &1 9.09% TATH T AT AT 2
T IS Toh SUUTH TEG hT Tod 36l Hed T {eha=T sifera foham T am?

A.25%
B.45.45%
C.22.22%
D.33.33%
: ‘ E.37.5%




Direction: The following table shows the number of students 1n
different colleges and ratio of boys and girls 1n respective colleges.
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If in college D the total number of students is 200 and the ratio of boys and girls in college

Ais 4 : 1. Then find the total number of boys in college A and D?
uﬁmDﬁWaﬁwmzoo%aﬁTmﬁAﬁmaﬁimwm4 12

a‘rmﬁﬁAaﬁTDﬁﬁgﬁzﬁwmmaﬁﬁﬁ?

College Total Boys : Girls
Students

1.2565
2.320
3.175
4.255
7 5.NOT




Find the number of boys 1n college C if ratio between girls and boys in college C is 6 :4?
Fe HIcAST C H TTSToRAT 1T AShi oh sii<l ol STUT 6 : 4 B, 1 Shicist C H TIgehl shi HEAT JTa

EAISE Y

College Total Boys : Girls
Students

1.260
2.180

400 | | \s 3.240
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Find the total no. of boys 1n college B if total no. of students in school C and B 1s 700?
el §&AT JT ehitsTd| Shicist B H TIgehl shi ST Ald el HE&AT [H@erd C 3B H BE1 3t 68

700 27

Students
I 1 2,240
400 _ A Ay 3.340




If in college F total no. of students is 1000 and ratio of girls to boys 1s 7 : 3. Then find

the total no. of girls in college E and F?
Fi< ShictsT F H el §&AT B oh! 64T 1000 & X ASIRAT ST ASeh! shl I 7: 3 8 ?ﬁsb_cf

O T WIWE 3T F H ASlohal shl 9&aT?

College Total Boys : Girls
Students

1.225
2.175

400 | | / vy 3.575
NN ~ Rl




Ratio of boys and girls in college A 1s 4 : 1. College E and A merged in one college.
Find the ratio of boys and girls after merger of college E and A?
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In how many years will principal become 16 times of itself if in 15 years at compound
interest it becomes 8 times of itself?

feRahaeT W HeTeH T ST 16 THT &1 AT0T A 15 aﬁﬁwﬁqwm%mws
w%‘rw%"
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sk
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x>+ 38x+361=0

v> -~ 3y-180=0

A X>Y
B.X<Y
CX 2Y
DX <Y
EX=Y
or CND



x*-75x+350=0

NERT, e ’
‘7{\ w

2+ 75y +1250=0 "

A.X>Y
B.X<Y
C.X/rz Y
DX <Y
E.X=Y
or CND



4x% — 32x + 63

2 — 16y + 63 =0

A.X>Y

B.X<Y
CX 2Y
DX <Y
E.X =
or CND



747, 736, 714, 680, 637, 582

/\"‘

A.680
B.736
C.637
D.747
E.582



20x* — 108x + 144 =0

A.X>Y
B.X<Y
CX2Y
DX <Y
EX=Y
or CND



125, 102, 81, 62, 45, 33

A.125
B.102
C.62
D.33
E.45



117x* 4+ 128x +35 =0
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39y —31ly—28=0"
‘ A X>Y

| B.X<Y

: f P CX2Y
| ’ DX <Y

EX=Y
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Directions (1-5):Study the following information carefully and answer the questions given beside.
a1 (3.1-5):- TAATcARad SITehRY 3T EATYeieh STEH shi S el 3T 71T i o 3T 4

From_a class a total of 200 w©e er & 200 Tt
students appeared in SBI PO & sBI Po &1 uliem &
examination consisting three S@a dia f(Qug oo,
papers Maths, Reasoning and  doeifth 3R ST U] 56%
English. 56% of the students 4Tl a1EIq & 30T &,
passed in maths, 63% passed 63% denRIih & a0l &
in reasoning and 56.5% passed Sgfh  56.5% AU H
in  English. 11% students SeToT “%;ﬁaghﬁ“ﬁg
passed only in maths and ?}%QTE%H oy 3-1?)\—7?[ |
reasoning, 8% passed only in 3T 4 For 229 AT /
Maths and English. And 22% Ry & st A P o
students passed in all three. Ryt F—ﬁ?—ﬁ 1

No student failed in all the Ha?ﬁ-uﬁ' el AT
three paper.




From a class a total of 200
students appeared in SBI PO
examination consisting
three papers Maths,
Reasoning and English. 56%
of the students passed in
maths, 63% passed in
reasoning and 56.5% passed
in English. 11% students
passed only in maths and
reasohing, 8% passed: only
in Maths and English. And
22% students passed in all
three. No student failed in
all the three paper.




How many students passed in Reasoning and English but not in Maths?
foRa Toremelt aehvTivh STIX SIS | AT STTUT O UR TITUTA W 30T &1 o ?

1)69
2)25
3)88
4)15
5)NOT




What is the ratio of number of students who passed only in Reasoning to the number
of student who passed in English only?

HACA dehvTith W 30107 foremelff 3T shareT U | 30T fararmeft <ht Hear st sraTa Fd
HU? *

1)4:5
ARK:
3)5;7
4)7:5
5)NOT




The number of students who passed in at most one paper is what % of the total number
of the students in the class?

TATSTH TATST Uk forear # 3ot feremeft, sher ok &t fermteia st feramr afeora 22

1)46.5%
2)40.5%
3)44%
4)56.5%
5)NOT




The number of students who passed in Maths only is what % of the number students
who passed in paper Maths and English but not in Reasoning?

Wnﬁmﬁﬁﬁﬁmﬁwwaﬂﬁﬁmm%ﬁnﬁmaﬁ?aﬁﬁﬁﬁﬁﬁﬁ
of U qehyTTeh | 30T 2T o 2

Reasomng

1)17.85%
2)19.75%
3)16.5%
4)20.5%
5)NOT




What is the difference between the number of the student who passed in English and

the number of the student who passed in only English?

ST W 30T Toremeff 3R harer iUt 7 3ot forefoa &t ofa¥ ATd &r?

1)55
2)0
3)85
4)75
5)NOT



(27.84 + 31.90) ~ 14.84 = 97.79 + 13.98 - 2
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A.3
B.10
C.5
D.11
E.2




(22.99

17.01) + 1.998 x 3.997 — 41.998

644.199 =?

AWACES
B.542
C.682
D.745
E.762



936.045 ~ 13.063 ~4.032 x 11.996 — 12.998 x 12.98 = ?

(o2

A.47

B.159
C.281
D.137
E.198




Time taken to travel certain distance of 'X' km at speed of 40 km/h is 2 hours more than
the time taken to travel (x + 20)km at a speed of 60 km/h. Find the time taken to travel

(x + 40)Km at the speed of 40 Km/h ?

40 Tertit/eicT oht ITidt & 'X" fereft sht fT2ra St o s o Totar 7o ww™ 60 ferwii/eeT <ht i
o (x + 20)%5ﬁaﬁwaﬂ%ﬁmﬁa|ﬁm@rz He 3TTereh 21 40 ﬁsﬁmeﬁnﬁrﬁ (x +
40)%ﬁ3ﬁwaﬂﬁﬁ%mwmm6ﬁﬁ%w

q =
\“

\ R = > A. 8hours
B. 6 hours
C.7.5 hours
D. 4 hours
E. 5 hours



Time taken to travel certain distance of 'X' km at speed of 40 km/h is 2 hours more than
the time taken to travel (x + 20)km at a speed of 60 km/h. Find the time taken to travel

(x + 40)Km at the speed of 40 Km/h ?

A. 8hours
B. 6 hpurs
C. 7.5 hours
D. 4 hours
E. 5 hours




